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Quant Mega Quiz for SSC CGL Tier - 2

Q1.If cos x.cos y + sin x.siny = -1 then cos x + cos y is
(a) -2

(b)1

(@0

(d) 2

Q2. The value of the expression 2 (sin® 0 + cos® 0) - 3 (sin* 0 + cos* 0) + 1 is

(a)-1
(b)O

()1
(d)2

Q3.
IfcosB =

x% = 32
+ y2

- then the value of cot 8 is equal to [if 0 < 6 < 90°]
xZ
Zxy
(a) ¥* -
2xy

(b) **+Y°

x2+}=2

(C) 2xy
x2—y2

(d) 2xy

Q4. If x = cosec O - sin 0 and y = sec 0 - cos 0, then the relation -

b dvi Complete Preparation for
etV\;eenzx andylis SSC Exams

(@) x*+y*+3=1

(b) x*y3(x* +y?*+3) =1
Oy 1 SSC

(d) y*(x*+y*-5)=1

Q5. If x tan 60° + cos 45° = sec 45° then the value of x> + 1 is E x T R E M E

(a)6/7
(b)7/6 Video Courses, Test Series,
8)) 56// 65 eBooks
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Q6. x, y be two acute angles, x + y < 90° and sin (2x - 20°) = cos (2y + 20°), the value of tan (x +y) is
(2) V3
L
(b) V3
@ "
(d) 2+4/2

Q7. If a®sec?®x - b*tan®x = c? then the value of sec®x + tan?x is equal to (assume b? # a?)
b*-a®+2¢*
@) et
bZ4a-26"
(b) bE _ﬂz
bZ-gZ-2c2
(©)  bZ+a?
bZ-a?

(d) b2+a’+2c2

Q8.

sin @ sin @
The value of

15
1+cosB 1—cosB

(a) 2sin 6
(b) 2cos 6
(c) 2sec
(d) 2cosec 6

Q9.Iftan* 0 + tan” 0 = 1 then the value of cos* 0 + cos? 0 is
(a) 2

(b) 0

(91

(d)-1

Q10. The value of 8(sin® 8 + cos® 0) - 12(sin* 0 + cos* 0) is equal to
(a) 20

(b) 20

(c)-4

(d) 4

Q11. If sin (x + y) sec (x - y) = 1, then find the value of tan? x + cos? x + cosec® x ?
(a) 5/2
(b) 7/2
(c)9/2
(d)3/2
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Q12.

sinB sin 8

=7
cot@ + cosec @ cotB—cosecB®

(@1
(b) 2
(c)3
(d)o

Q13.
tan4d cotd

1-—cotd 1-tan4d
(@1
(b) 2
(c)0
(d)3

=K+tan A+ cotA, thenK=7?

Q14.

cos® B gin® @

= + 3 , :?
1—tan® ' sinB—cos @ K +sin 0 cos 8, then K

(@)1
(b) 2
(c)3
(d) 4

Q15.

(1—sin B+cos 8)? _,
(1+cosB)(1—sinB)
(a) 2
(b) 1
()3
(do

Q16. sec® 0 - tan® 0 - 3 tan? 0. sec 0?
(@1

(b) 3

(c) 2

(d)-1

Q17. cosec® 0 - cot® 0 - 3cot? 0. cosec’* 0 =?
(a) 2

(b) -1

(01

(d) 4
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Q18.
(cosec B—secB)(cotB—tan @) ”

(cosec B+secB)(secB.cosec B-2) -
(a) 2

(b) 1

(c)3

(d)-1

Q19.

Ifsin @ + cos 8 =2 sin (90° - 8], thencotB8 =7
(a) V2-1

(b) \.'E +1

() V2

(@) ?

Q20.

15 (242 sina)(l—sina)
If cot &« =—, then =7
8 {(1+cosal(2—2 cos o)

(a) 125/8
(b) 225/64
(c) 64/225
(d) 8/125

Q21.
If (rcosf — "E}Z + (rsinf — 1]:Z =0

r tanf+sect

then the value of ————Is equal to
r secf+tand

lown)
<]
—

~
o
L
sl ein e

©)
ﬁ
(d) 4
QZZZ' If x = a (sin + c0s0), y = b (sin6-cos0) then the value of:—z + EN G LISI;I
y4 .
: BY

() 0 NEETU SINGH
(b) 1 12th May

(c) 2 hr S
(d) -2 lue, [nr, Sat
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Q23.
If sin 21° = i, then sec 21° — sin 697 is equal to

.1'2
0 7P
}?Z
(b) xyy?—x2
xZ

(c) IV
2

¥
(d) =r?

Q24. If a cos 0+b sinB=p and a sin0-b cos0=q, then the relation between a, b, p and q is

(@@ —b=pr-a
(b)a:r,z-l--’Jz:pz-i-qE
(C)a+I}=p+q
(@~ PTPa

Q25.
The numerical value of

5
sec’ 8 * 1 + cot®*8
(@5
(b) 2
()3
(d) 4

1 3sin’Bis

Q26.

If X =a secacosf,y = b seca sinf3,z = ctana,
=2 2 2

then the value of = + 2 z—z is
as C

-
(a) 2
(b) 0

(01
(d) -1

Q27.
If tan® 8 = 1 — e?, then the value of secf + tan® 8 cosech Is

@) @+e?)
) 2~ %)
(© (2+e?):
@ @ =)
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Q28.
sin® 5% + sin” 10° + sin® 15° + -+ 4 sin® 85° 4 sin” 90° is equal to
(a) 7 %

(b) 8 % SSC CGL

(c)9

(@ 9% TIER-I MAHA PACK

Q209. Test Series, Live Classes,

tan57°+cot3T° Video Course, Ebooks
IS equal to

6 Months Subscription

The expression —————
tan 23°+cot 537

(a) tan 33° cot 57° Blllngual (With e-Books)
(b) tan 57° cot 37°
(c) tan 33° cot 53°
(d) tan 53° cot 37°

Q30.

If cosB + sec = +/3, then the value of cos®8 + sec®B is
(@)o

(b) 1

(-1

(d)V3
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